
Group: CHD-SUPERCHD
Engine: LDW 2204   Drawing: H

LUBRICATING SYSTEM
POS. CODE DESCRIPTION Qty
  1 2175.104 oil filter cartridge 1  2 7265.021 oil filter connector 1  3 1400.213 dipstick  std (mm 97) 1  3a 1200.325 rubber oil seal 3  4 6495.052 drive rod 1  5 5625.010 spring 1  6 4670.019 copper gasket diam.16 1  7 9015.006 plug 1  8 9730.012 screw M 6 X 20 9  9 1213.348 seal ring 1 10 9080.240 plug M 12 1 11 2650.057 OIL PUMP COVER 1 12 4431.149 gasket 1 13 7750.081 oil pump rotors 1 14 1760.005 bolt M 6 X 1 X 16 2 15 7565.004 washer diam. 6 2 16 1200.226 O ring 1 19 9580.032 breather pipe 1 21 1770.160 screw M 8 X 1,25 X 16 22 22 9040.035 plug M 18   h = 22 1 23 4670.088 copper gasket 18X24X1 1 25 9730.100 screw M 8 X 25 1 26 9320.167 suction oil pipe for eng.without equalizer 1 27 4601.166 gasket 1 28 6645.564 oil pan 1 45 1200.001 O ring 108 1 46 1400.228 dipstick 1 47 9330.062 dipstick guard 1 48 1400.259 dipstick (mm 102) 1 50 9330.065 dipstick guard 1 54 1202.036 O ring 1 55 3855.135 oil flange 1 56 4670.061 copper gasket diam.14 1 57 5953.048 nipple 2 58 1200.042 rubber oil seal 1 59 7265.036 union 1 60 5953.048 nipple 1 61 4670.061 copper gasket diam.14 2 62 4896.252 oil flange 1 63 7330.278 head filter oil conn. 1

printed by LOMBARDINI:   29/03/2018  -      1



Engine: LDW 2204  Drawing: H

printed by LOMBARDINI:   29/03/2018


